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QID : 201 -

n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TafRE wy & Ry 9w foeeut # @ uy g
(?) & TUET W A dlel GEd W e

4 7 3 7 6 | ?
3 |12 5 1|13 8 | 17
Options:
15
2)4
3)3
47

Correct Answer: 5
Candidate Answer: 5

QID:202-
How many quadrilaterals are there in the given figure?

& T agpla & Rraa T B

Options:
1)4

2)5
3)6

4)8
Correct Answer: 6
Candidate Answer: 6




QID : 203 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the allernatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-1l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, etc., and ‘M’ can be represented by 11, 66, etc.
Similarly, you have to identify the set for the word “MONK”.

TS G AW Th F-EAE & G orr §, ot f5 Reedt A @
fah v & o aran € fwedt # B s dear-ges el & gy el
ar1 gefv arw &, Star B Ru ww oY eyl o # smeygl & s 3k
Gics T dEar 0 @ 4 % 3R e f 5 @ 91 5 HEUE ¥ UE HaW
B Ued 3EH R AT ae A aEw dwr g oeakar s og@ar &
SERROT & AT ‘ATl 24, 95, 31fg GRT g AT WAl § T M 11,
66, i &R G =1 Tl &1 3o a¥g & U uy F fGU g
“MONK” & T Wfg =1 Ugaear &l

Matrix-] Matrix-ll

e Iegg-ll
(11234 516|789
0| T|IQ|W|G| K 5|Z|0|D|C|X
1/K|M|O|P|S 6|GIM[N|H|V
2/ 1[PIX|K[|A TIEJO[Y[K[T
3|F|H|J|L|N 8|D|F|W|L|R
4|A|R|Q|V|X 9|A|E[U|N|P

Options:
1)11,12,34,86

2) 11, 56, 98, 04
3) 66, 76, 88,10

4) 86, 02, 32, 31
Correct Answer: 11, 56, 98, 04
Candidate Answer: 11, 56, 98, 04

QID : 204 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o IR aEfa # @ 3@ SR g @ gEw
Srw d oy ampla BAfa




Options:
1)

2)

ol

4)

Correct Answer:

=

Candidate Answer:

QID : 205 -

Which answer figure will complete the pattern in the
question figure?

did H 3aC Apld W gfd & uiaww @ g
hLa?

IV
?

INZ




Options:
1)

N

2)

-

//'

4)

//.'

Correct Answ

[
3

/f‘

Candidate Answer:

/f'

QID : 206 -

[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy 7R ZUUT @ AB T@T U7 TW@T ST, & & 9
TaY AGRAAl # W BiF W NG U B A
T ufafess aefre

7 N

m\"E
B




Options:

1)
~ [
N

2)

« [
N

3)

N A
L1~

4)

0
7 N

Correct Answer:

« [
% e

Candidate Answer:

« [
%[N

QID : 207 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & e Efodl A R 3gER Fee @
AIZRT Ded I Wil & g 9% g 3/ e
S femre dame

][5




Options:
1)

N
~

w
~

'S
=

2] 2] e [

Correct Answer:

Candidate Answer:

QID : 208 - By interchanging which two signs the equation will be correct?
19x3-6x4+4=77
o &Y Rigl ot e H IRER Fae- IR WHIGRUT T8l & STgm?

19x3-6x4+4=77
Options:

1) +and x

+dAT X

2) =and x

=darx

3)+and -

+ U1 —

4) — and x

—durx

Correct Answer: + and -
+ U1 —

Candidate Answer: = and x
=quTx

QID:209-1f5#6#7=9and6#9#5=10, then
7#3#6=?
qRE5#6#7=9aM649#5=10g,al

7#3#6=2

Options:

1)8

2)10

3)12

4)6

Correct Answer: 8
Candidate Answer: 12




QID : 210 - Arrange the given words in the sequence in which they occur in the dictionary.

1. 0wl

2. Ornament
3. Orange

4. Oxidation
5. Omnious

Frafeifea el ot ATeaenil A 31 a1 3 & SIgaR g

1. 0wl

2. Ornament
3. Orange

4. Oxidation
5. Omnious

Options:
1) 53241

2) 53214
3) 52341

4) 52314
Correct Answer: 53214
Candidate Answer: 53241

QID : 211 - In the following question, select the missing number from the given series.
16, 25, 36, 49, ?
FrafafEa usr 7 &g 77g faered # @ g sie 1 SIfSgl

16, 25, 36, 49, ?

Options:
1) 64

2)65
3) 81

4) 66
Correct Answer: 64
Candidate Answer: 64

QID : 212 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ABC, DEF, HIJ, MNO, ?
Teh 3rshA o &, o @ ueh ue g 81 Ry g et # @ g8 T8 e gy, STt sigshA sl Rl

ABC, DEF, HIJ, MNO, ?
Options:

1) RST

2) PQR

3) STV

4) STU
Correct Answer: STU
Candidate Answer: STU

QID : 213 - In the following question, select the odd word from the given alternatives.

frafafa we & g 7o feredt & @ fwm g &t gg)
Options:

1) Axe

2) Tube

EEil

3) Light

ThIRT

4) Mirror

<=

Correct Answer: Light
ThIRT

Candidate Answer: Light
HhIT

QID : 214 - In the following question, select the odd number from the given alternatives.

Frafafea v A g 7g faeredt # 9 fawm I @t gihml




Options:
1) 225
2) 169
3) 625
4) 615

Correct Answer: 615
Candidate Answer: 169

QID : 215 - In the following question, select the odd letters from the given alternatives.

FraforfEa e F fag 7y feremedt & & fm sreri &t 9wl

Options:
1) DB

2) TR

3) YX

4) OM

Correct Answer: YX

Candidate Answer: YX

QID : 216 - Identify the diagram that best represents the relationship among the given classes.
Father, Brother, Male

Tg IR@ IAY 5t /D Ry 7 it & <fim & Heter 1 v Feuor wear 21

oy, wrd, gew
Options:
1)

©)o

2

~

3

4

)
)
Correct Answer:

Candidate Answer:

QID : 217 - In the following question, select the related word from the given alternatives.

Knife : Cut : : Spoon:?
Pt me A g g Reredl & § FEfda g & gl

T : BIEST . : THT : ?




Options:
1) Steel
ELIG)

2) Eat
Eeic)

3) Plate
e

4) Plastic
AR

Correct Answer: Eat
QT

Candidate Answer: Eat

Tt

QID : 218 - In the following question, select the related number from the given alternatives.
115:7::638:?

frfafea me A g g femedt # § Sefa S @ gl

115:7::638:?

Options:
1)15

2)17

3)10

4)0

Correct Answer: 17

Candidate Answer: 17

QID : 219 - In the following question, select the related letters from the given alternatives.
ZAB:YZA::XYZ:?

frfafea wer 7 fig 71g faeredt # § Sefda srerd &t gfg)

ZAB:YZA::XYZ:?

Options:
1) WXZ

2) WXY
3) ABC

4) MNO
Correct Answer: WXY
Candidate Answer: WXY

QID : 220 - In the following question, select the word which cannot be formed using the letters of the given word.
STEADFAST
e faeedl 7 | ag Tee AT St ey 7T 2165 & SR & UAINT hech Ta1 S-TaT 1T Sehd|

STEADFAST
Options:

1) DEAN

2) DEAF

3) FAST

4) FED

Correct Answer: DEAN
Candidate Answer: DEAN

QID : 221 - Present ages of P and Q are in the ratio 5 : 7 respectively. After eight years this ratio becomes 3 : 4. What is the present age (in years) of P?

P qom Q Y ade SR shARN: 51 7 & Sigura A 81 9115 I U T8 SIUTd 3 : 4 8 Siar 81 P Y adfae oy (aot H) @ 82

Options:
1)32

2) 48
3) 40

4) 56
Correct Answer: 40
Candidate Answer: 40

QID : 222 - P remembers his birthday is before 23 March. P's father remembers his birthday is after 215! March. On which date of March is his birthday?
P &l a1 & foh S8R sTeAfe 23 ATE & gd 81 P & i a6t a1e & o SeeT S 21 A1 & U &1 S9ehT SHieH AT 3l SRt 9 faifer ot 82




Options:

121

2)22

3) 23

4)24

Correct Answer: 22
Candidate Answer: 22

QID : 223 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements

Statements:

I. All blue are black.
IIl. Some red are black.

Conclusions:

I. All red are black.
IIl. No red is black.

2 R g v F o T SR I a1 I AT R SR FE ey 7w 1y &, gTeifes 3 I I aal O fraan g wehdt 81 9t et ug ofk iR e R % Ry g e
G ey, 3T 71Q ol & SR R gRegTE &1

RY:

I goft it et &
II. & T &I §1

fArser:

1. goft o Tl B
I1. Y STt Bt T8l 1

Options:

1) Only conclusion (1) follows.

Fhad fsmy (1) 9t 31

2) Only conclusion (I1) follows.

had fAsnd (1) T 1

3) Both conclusion follow.
SE

4) Neither conclusion (1) nor conclusion (11) follows.

T o P (1) 7 & Freesef (1) T 21

Correct Answer: Neither conclusion (1) nor conclusion (11) follows.

7 3t P (1) 7 1 e (1) @@ 21

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

Tt Frsef (1) 7 & Frsemf (1) T 21

QID : 224 - In a certain code language, "GAIN" is written as "HCLR". How is "THOUR" written in that code language?

U fAfE s vrar & "GAIN" &l "HCLR" forar ST 81 59 shis 9t & "HOUR" @t 37 UehR forar smamm?

Options:
1) IQXV

2) IQxU
3) IPXV

4) IPWU
Correct Answer: IQXV
Candidate Answer: IQXV

QID : 225 - In a certain code language, "KIT" is written as "39" and "KAT" is written as "31". How is "MIX" written in that code language?

e AfAE s oo &, "KIT" @t "39" JorT "KAT" i "31" foRaT SiaT &1 59 dis 9T § "MIX" &l fondy IR forar smoam?

Options:
1) 44

2) 46

3)45

4) 47

Correct Answer: 45
Candidate Answer: 45

QID : 226 - If product of two numbers is 432 and one number is 16. What is the second number?

Ife; & Tvereil @1 TUHh 432 & TT Ueh ST 16 &1 5O TRl T 82

Options:
1)17

2)23
3)33

4)27




Correct Answer: 27
Candidate Answer: 27

QID : 227 - How many positive factors of 425 are there?

425 3 fhem YT UMES 82
Options:

14

2)6

3)9

410
Correct Answer: 6
Candidate Answer: 4

QID : 228 - How many times digit '0' appears in the number from 1 to 100?

19 100 qeh i T | 8ies ‘0’ fha aR st 2
Options:

H1

2)17

3)10

413
Correct Answer: 11
Candidate Answer: 11

QID : 229 - What is the units digit of (311)57 x (25)3%2

(311)57 x (25)36 o1 3oATS Sich TR ?

Options:

10

2)2

3)5

46

Correct Answer: 5
Candidate Answer: 5

QID : 230 -

What is the value of /645 — /400 ?

645 — /400 T HIT FAT &7

Options:
1)24

2) 30
3)25

4) 20
Correct Answer: 25
Candidate Answer: 25

QID : 231 - Which of the following statement is true?

1. 74is odd.
II. 47 is odd.

Frafafea § & i a1 s T 82

.74 s @
1. 47 ey &1

Options:
1) Only |
had |

2) Only Il

Fae Il
3)Bothland Il

| @ || g

4) Neither I nor Il
Farlagl

Correct Answer: Only |

Fae |

Candidate Answer: Only Il
Faet Il




QID : 232 - P can do a piece of work in 20 days and Q can do the same piece of work in 30 days. They start working together and work for 5 days and then both leave
the work. R alone finishes the remaining work in 21 days. In how many days will R alone finish the whole work?

P Qe i &t 20 ot 7 qR1 o ehan & T Q ST i et 30 AT A OR1 R Fehalm §1 Q41 Geh |1 S kAT MR v & T 5 T e R v € aut R Al a Blg A 51 R AW
& ot 1kt 21 R A U1 R &1 R Srchert IR e ot fohe AT H g1 anem?

Options:

1) 30

2)33

3)36

4) 42

Correct Answer: 36

Candidate Answer: 36

QID : 233 - Suraj and Ratan together can do a work in 12 days. Suraj alone can do the work in 15 days. In how many days can Ratan alone do the work?

T AT YR Geh B i ATy 12 Rl & o1 o Wehdl &1 ReT a1kl e oY 15 AT F UR1 R TehalT &1 a1 S1dhell 39 i bt foha foett § qRT hm?
Options:

1)70

2) 60

3) 65

4)75

Correct Answer: 60

Candidate Answer: 60

QID : 234 - If the area of an equilateral triangle is 36v3 m2, then what is the value (in metres) of its height?

af; et Gwrag Biagst o1 Sther 36v3 .2 §, o IuchY Fad ot A (e ) T 82
Options:

1)6

2) 6v3

3)18

4)3v3

Correct Answer: 6v3

Candidate Answer: 6

QID : 235 - If the difference between discount of 25% and two successive discounts of 10% on a certain bill is Rs 84, then what is the amount (in Rs) of the bill?

I geks forer & 25% ar &t 10% 6 AT el & i 84 ol SfaR SiaT 8, At forer ot wfr (& ) fowait 82

Options:

1) 1600

2) 1400

3) 1250

4) 1380

Correct Answer: 1400

Candidate Answer: 1400

QID : 236 - If a shopkeeper marks the price of goods 60% more than their cost price and allows a discount of 30%, then what is his gain or loss percent?

I, Goh gehMER S0 | TR I6¢h 578 e | 60% 31 71e3 Sifthd ol & a1 30% I @ 3aT &, 1 SHehl 197 ST g1 Hierd o 82
Options:

1) 12%, Profit

12%, 19

2) 12%, Loss

12%, g1

3) 10%, Loss

10%, BIf

4) 20%, Profit

20%, A9

Correct Answer: 12%, Profit
12%, a9

Candidate Answer: 12%, Profit
12%, 9

QID : 237 -If 7.7 of a=1.21 of b, then whatis a: b?

gffa@m7.7=b&1.21 8 da:bwg?

Options:
1)11:70

2)11:77
3)7:11

4)7:3
Correct Answer: 11:70
Candidate Answer: 11:70

QID : 238 - Of three positive numbers, the ratio of 15t and 2" is 7 : 3, that of 2"d and 34 is 4 : 5. The product of 15t and 3" is 10500. What is the sum of the three
numbers?

&I erTereh Sl #, uged! o ged &=

Eo-:\.%.-_:ﬁ,:?r;:hzr,rpﬁ_:r[ T T &7



Options:
1) 1600

2)275
3) 1675

4) 1375
Correct Answer: 275
Candidate Answer: 275

QID : 239 - The average age of students in a class is 9 years. If a student with age 19 years joins the class, then new average age becomes 10 years. How many
students are there in the class?

Tk el & o1l S omg 9 ad €1 af 19 af 1y aTeT ek ST et H AmfAe gt S &, o it oftera amg 10 af g St &1 e H e e §?
Options:

17

2)9

3)8

4)10

Correct Answer: 10

Candidate Answer: 9

QID : 240 - By selling an article for Rs 252 there is a loss of 16%. What is the cost price (in Rs) of the article?

Tep % Bt 252 % H 9 TR 16% i 711 gielt &1 I 1 5 T (T ) T 82
Options:
1) 325

2) 300
3) 280

4) 295
Correct Answer: 300
Candidate Answer: 300

QID : 241 - By Selling 2 articles for 1 rupee, a man gains 20%. Had he sold 4 articles per rupee, then what will be the loss percentage?

1 398 8 2 JEISH Y S TR Yk Rk Bl 20% T 1 BT &1 afe I8 Geh Tud H 4 a¥qq 99, ot g1 wfdsia e ghm?
Options:

125

2) 20

3)30

4) 40

Correct Answer: 40

Candidate Answer: 25

QID : 242 - A number is increased first by 20% and then it is decreased by 20%. What is the percentage change in the number?

e H&A1 &l U5t 20% & T STIaT & 2T TR I8 20% & 9 STdT §1 S § foha=r nfasrd uRad- ger 82

Options:

1) 4% decrease
4% et

2) 4% increase
4% &Y

3) 40% increase
40% Hrafg

4) No change
CIEICREE ]

Correct Answer: 4% decrease
4% 6 et

Candidate Answer: 4% decrease
4% i

QID : 243 - Total cost of 70 fans is Rs 56000. If cost of each fan decreases by 10% and number of fans decrease by 10%, then what will be the total cost (in Rs) of

fans?

70 Uat & S Jed 56000 F &1 afe Tieh U & e 10% T A 0T SI1q qm Ul i T 10% § A g 511G, ot UEl 1 5l 1o (3 5) 1 ghm?

Options:
1) 45360

2) 48200
3) 46680

4) 47420
Correct Answer: 45360
Candidate Answer: 45360

QID : 244 - The speed of a stream is 3 km/hr. A boat goes 55 km and comes back to the starting point in 16 hours. What is the speed (in km/hr) of the boat in still
water?

T <hi 1 3 b 1./ e 81 G 1 55 )

//—— "_'“-“—‘_'II./ HeT A) T 82



Options:

1)16

2)8

3)10

4)9

Correct Answer: 8
Candidate Answer: 10

QID : 245 - Two men are standing on opposite ends of a bridge 1500 metres long. If they walk towards each other with speeds of 5 m/s and 7 m/s respectively, then
in how much time (in minutes) will they meet each other?

at aafth 1500 Hier o g & faodia il R @s €1 af & shmen: 5 /@, qur 7 /3. & il @ ge gaR &Y 8k o1 a9 &, | 3 s | fem # feaen w (Feed ) d

Options:
1)125

2)175
3) 200

4) 225
Correct Answer: 125
Candidate Answer: 125

QID : 246 - In how much time (in years) will Rs 8000 amount to Rs 9600 at simple interest at the rate of 5% per annum?

fora= g (awt #) 7 8000 ¥ & AT 5% T a1fiien X F ATROT el R 9600 T Y SIgii?

Options:
1)6

2)4
3)3

42
Correct Answer: 4
Candidate Answer: 4

QID : 247 -
The table given below shows the number of tourists (in
000’) visiting Delhi in year 2017 from the month of
January to June.

e & 9% difersr A a¥ 2017 & Sl Ale § I
ATE O Reel 3 3@ aret et fr F=a (000 H)

@ el I B
Month / Number of tourists {in 000°) /
T udeasl I dEar (0007 H)
January / STErerdY 100
February / ®BTadr 200
March /3T 150
April / 38 400
May / 7S 300
June / & 260

What is the difference (in 000") between the maximum and minimum number of tourists visited in any month as a percentage of the tourists visited in March?

A & o aret wefeent 3 nfara & w0 F foReht oft 7 F o aret wiean! St sifdreas aum <jAaw Ten & we R iR (000" H) 87

Options:
1) 250

2) 300
3)150

4) 200
Correct Answer: 200
Candidate Answer: 200




QID : 248 -
The table given below shows the number of tourists (in
000’) visiting Delhi in year 2017 from the month of
January to June.

d@rer & Te arforRr # 9 2017 F Sy A W A
ATE T ool # 3 arer udemt &Y §== (000 H)
Y ZATAT T

Month / Number of tourists {in 000°) /
IS et f dEar (0007 H)
January / STeTerdl 100
February / ®Tadr 200
March / AT 150
April / 38 400
May / 7S 300
June / Ja 260

What is the percentage change in the number of tourist visited in June to that in January?

STErt Y el B S # ST ATl uifen! & T | ufara uRkad= w §?

Options:
1) 150
2) 80

3) 160
4)130

Correct Answer: 160
Candidate Answer: 160

QID:249-
The table given below shows the number of tourists (in
000’) visiting Delhi in year 2017 from the month of
January to June.

@ & a2 arfersr # 9§ 2017 # Sy A W S
ATE dF o & 3@ arer UIemr Hr &I (000’ H)
T g T E

Month / Number of tourists {in 000°) /
T wieent fir aar (0007 )
January / SteTed 100
February / ®TadY 200
March / HAT=r 150
April / 318 400
May / 7S 300
June / & 260

In how many months was the number of tourists who visited Delhi is a multiple of 10,0007

foram wEtaT # fecett o= a1t Wicen! &h e a000 o R _

__
e e L e e s Wy
P e e R T e T WP e W 17/




Options:

16

2)5

3)4

4)3

Correct Answer: 6
Candidate Answer: 4

QID:250 -
The table given below shows the number of tourists (in
000’) visiting Delhi in year 2017 from the month of
January to June.

@ & 7% arforer F ¥ 2017 & Saad A F I
HATE aF ool H 37 arel Ut A §&ar (000" &)

& ST I EI
Month / Number of tourists {in 000°) /
AT T A |E&am (0000 H)
January / STeady 100
February / ®wTad 200
March / AT 150
April / 318 400
May / A 300
June / S 260

What is the average number of tourists (in 000') visited Delhi from January to May?

AR @ 7S qeh feett 31 aret ufen! <l i WA (000" #) T 82

Options:
1) 210

2) 200
3) 230

4) 282
Correct Answer: 230
Candidate Answer: 230

QID : 251 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

First in the lower house in (1)/ parliament and then in (2)/ unelected upper chamber, the bill was rejected. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID : 252 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

The Parliament took a historic (1)/ decision to back the will of (2)/ the people and vote to the bill (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 253 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

mr— — et e e e —
U e e B e A T S

Kareena is totally satisfied




Options:
1) for

2) with
3) of

4) at
Correct Answer: with
Candidate Answer: for

QID : 254 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

I settled

Options:
1)on

in Paris last year.

2) above
3) off

4) down
Correct Answer: down
Candidate Answer: down

QID : 255 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Junk
Options:
1) Waste
2) Keep
3) Purity

4) Neat
Correct Answer: Waste
Candidate Answer: Waste

QID : 256 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Lurid
Options:

1) Over-bright
2) Humble

3) Modest

4) Clean
Correct Answer: Over-bright
Candidate Answer: [ NOT ANSWERED ]

QID : 257 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Imprudent
Options:
1) Cautious

2) Careless
3) Wise

4) Discreet
Correct Answer: Careless
Candidate Answer: Careless

QID : 258 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Premium
Options:

1) Superior
2) Inferior
3) Choice
4) Excellent

Correct Answer: Inferior
Candidate Answer: Inferior

QID : 259 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Probationer




Options:
1) Tyro

2) Master
3) Recruit

4) Novice
Correct Answer: Master
Candidate Answer: [ NOT ANSWERED ]

QID : 260 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Rambling
Options:
1) Direct

2) Diffuse
3) Irregular

4) Wordy
Correct Answer: Direct
Candidate Answer: [ NOT ANSWERED ]

QID : 261 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Laughing stock
Options:

1) An object of ridicule
2) A subject of peace

3) Finding fault in others
4) Profitable deal

Correct Answer: An object of ridicule
Candidate Answer: An object of ridicule

QID : 262 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Pay through the nose
Options:
1) Have patience with

2) To pay attention
3) Problem in breathing

4) Pay much more than a fair price
Correct Answer: Pay much more than a fair price
Candidate Answer: To pay attention

QID : 263 - Improve the bracketed part of the sentence.

Initially, | had wanted to set up (many) high-tech foundry in India.
Options:
1)a

2) an
3) most

4) No improvement
Correct Answer: a
Candidate Answer: a

QID : 264 - Improve the bracketed part of the sentence.

I have (all long been) a fan of the former President, who told me when he was in Dubai long back.
Options:

1) longing been

2) all along been

3) always had been

4) No improvement

Correct Answer: all along been

Candidate Answer: [ NOT ANSWERED ]

QID : 265 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Loss of sleep




Options:
1) Hypertonia

2) Insomnia
3) Urania

4) Dipsomania
Correct Answer: Insomnia
Candidate Answer: Insomnia

QID : 266 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Inserting new matter in a book
Options:
1) Articulate

2) Manipulate
3) Interpolate

4) Assimilate
Correct Answer: Interpolate
Candidate Answer: Manipulate

QID : 267 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Appropriate

2) Apropriate
3) Aproprieate

4) Appropreiate
Correct Answer: Appropriate
Candidate Answer: Appropriate

QID : 268 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Capeble

2) Capable

3) Capabal

4) Capeable

Correct Answer: Capable

Candidate Answer: Capable

QID : 269 - Rearrange the parts of the sentence in correct order.

It requires

P: a voluntary effort and

Q: participation of one and all
R: struggle involving the
Options:

1) PQR

2) RQP
3) RPQ

4) QPR
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 270 - Rearrange the parts of the sentence in correct order.

The aim of

P: services that we want
Q: production is to

R: produce the goods and
Options:

1) PQR

2) QRP

3) PRQ

4) RPQ

Correct Answer: QRP
Candidate Answer: QRP

QID : 271 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Well-read man is
his good talks. He shows his worth at a
is another advantage of reading books.

by all. He is a storehouse of information. He knows _____ of everything. A well-read man can be a very good talker. He can entertain us with
things. So, we do not feel dullness and

function. He can talk about

in the company of such persons. This

Well-read man is by all.




Options:
1) loved

2) hated
3) neglected

4) ignored
Correct Answer: loved
Candidate Answer: loved

QID : 272 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Well-read manis by all. He is a storehouse of information. He knows
his good talks. He shows his worth at a function. He can talk about
is another advantage of reading books.

of everything. A well-read man can be a very good talker. He can entertain us with
things. So, we do not feel dullness and in the company of such persons. This

He knows of everything.
Options:
1) nothing

2) something
3) everything

4) anything
Correct Answer: something
Candidate Answer: everything

QID : 273 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

Well-read man is by all. He is a storehouse of information. He knows
his good talks. He shows his worth at a function. He can talk about
is another advantage of reading books.

of everything. A well-read man can be a very good talker. He can entertain us with
things. So, we do not feel dullness and in the company of such persons. This

He shows his worth at a function.
Options:

1) economical

2) social
3) marriage

4) political
Correct Answer: social
Candidate Answer: economical

QID : 274 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

of everything. A well-read man can be a very good talker. He can entertain us with
things. So, we do not feel dullness and in the company of such persons. This

Well-read man is by all. He is a storehouse of information. He knows
his good talks. He shows his worth at a function. He can talk about
is another advantage of reading books.

He can talk about
Options:
1) much

things.

2) more
3) mere

4) many
Correct Answer: many
Candidate Answer: many

QID : 275 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

of everything. A well-read man can be a very good talker. He can entertain us with
things. So, we do not feel dullness and in the company of such persons. This

Well-read man is
his good talks. He shows his worth at a
is another advantage of reading books.

by all. He is a storehouse of information. He knows
function. He can talk about

in the company

So, we do not feel dullness and
Options:
1) kingdom

2) freedom
3) stardom

4) boredom
Correct Answer: boredom
Candidate Answer: boredom




QID : 276 - What is the process of rapid integration or interconnection between countries called?

321 & offwr asft & uhrenzor a1 Tt i ufthar @ §2

Options:
1) Industrialisation

2) Globalisation
EEicou
3) Liberalisation

4) Mordernisation
3

Correct Answer: Globalisation
&

gandidate Answer: Globalisation

QID : 277 - Which among the following is NOT an impact of unemployment?

o & @ T RIS & w82
Options:
1) Wastage of manpower resources
SRR HTET @ Sy
2) Increase in economic overload
AR gy
3) Hamper the overall growth of an economy
e Srefegaren & i ey A anar
4) Increase in per capita income
s A A i
Correct Answer: Increase in per capita income
cafs o A i
Candidate Answer: Increase in per capita income
=k o o

QID : 278 - Who among the following is head of the state?

R & & ai T & T 27

Options:

1) Vice President of India
IR

2) President of India
9Ra & agufd

3) Prime Minister of India
TRA & T

4) Loksabha Speaker
TAeRET STeaet

Correct Answer: President of India
IR &

Candidate Answer: President of India
IRA &

QID : 279 - According to constitution, Indian parliament has been divided into how many parts?

GfIem & SR, MR 49 it foha fewal # faswfora fovar mar 82
Options:

1)3

2)5

3)7

4) 11

Correct Answer: 3

Candidate Answer: 3

QID : 280 - Dhamma' is the word for the Sanskrit term 'Dharma’.

o TR T aH T wa
Options:

1) Hindi

=i

2) Prakrit

HIchd

3) Pali

areft

4) Urdu

Correct Answer: Pali

Candidate Answer: Pali

QID : 281 - In which year the Sisodiya Capital of Chittor was seized by Akbar?




Options:
1) 1550

2) 1568
3)1585

4) 1591
Correct Answer: 1568
Candidate Answer: [ NOT ANSWERED ]

QID : 282 - At which meridian it will be midnight when it is 12 noon at Greenwich?

org arR W AR ghft o M W glugr & 12 o<t g?
Options:

1)90°E

90° T,

2)90° W

90° T.

3)180°E

180° g,

40w

0°u.

Correct Answer: 180° E

180° g,

Candidate Answer: [ NOT ANSWERED ]

QID : 283 - What are the mineral constituents of oceanic crust?

HETENR 6l GU& & I @i gedh o1 87
Options:
1) Silica and Magnesium
ferept aam A=
2) Magnesium and Alumina

S AT G AT
3) Silica and Stones

GRIRRI

4) Nickel and Iron
fAfenet e e

Correct Answer: Silica and Magnesium
GRIE: SR C

Candidate Answer: Silica and Magnesium
o AR

QID : 284 - The correct sequence of taxonomic categories is

TR Ao o ag s H|

Options:

1) Division-family-class-order-genus-species

fEdom-aRaR-ar-smear-Sia-SsTioa

2) Division-class-order-family-genus-species

& ®R & SME-URAR-SHE-FeT it

3) Phylum-order-family-class-genus-species

S-S TRAR-R{-SHg-Hafaay

4) Class-phylum-order-genus-family-species

RETT-STTT-HTERT-S I H-TRaR-HSTfel

Correct Answer: Division-class-order-family-genus-species
TR & MR- URAR-STE-

Candidate Answer: [ NOT ANSWERED ]

QID : 285 - lleum is .
o ]|

Options:

1) first part of the large intestine

TS} 3T T UG U

2) middle part of the large intestine

2T 3Nid T Hed JHT

3) last part of the small intestine
3id AT S AT

4) not a part of the small intestine
ST T Qe AT e &

Correct Answer: last part of the small intestine

BIET 3Hid T S AT

Candidate Answer: [ NOT ANSWERED ]

QID : 286 - In humans, exhaled air contains oxygen about

At #, Wi gRT S g8 g & e Siferfisr giar 81




Options:

1) 40%

2) 44%

3) 16%

4) 64%

Correct Answer: 16%
Candidate Answer: 16%

QID : 287 - The effect of an impulse force on the body is measured only in terms of its

SRR UR Tk SATNT & &hT U1 heled 39 ______ & e & a1 SIran g
Options:

1) weight

HR

2) mass

geA

3) impulse

37T

4) velocity

Eu

Correct Answer: impulse
STaT

Candidate Answer: [ NOT ANSWERED |

QID : 288 - When water is heated from 0°C, its volume .

S gt Rt 0° Tl Afcgw @ TRy fR ST &, A sHe emra |

Options:
1) only increases
Sgarg
2) decreased till 4°C, then increases
4° f&ft Afcae aa &t et g8, o 9 et &

3) remains constant, always

g R AT g

4) first increases then decreases

g ST & fR gear g

Correct Answer: decreased till 4°C, then increases
4° &t AR o Y it g%, o g et

Candidate Answer: decreased till 4°C, then increases
4° &3t ST o Gl it g3, fhe 9¢ Tt

QID : 289 - In a computer, where do all the deleted files go?

Tk chegex #, Toft gerd it whige! ahet oIt 82
Options:

1) Desktop

Swnel

2) Recycle bin
Jaméfere fom

3) My computer
B

FEX
4) Control panel
chgiet et

Correct Answer: Recycle bin

Candidate Answer: Recycle bin

QID : 290 - The gas used in the welding and cutting of metals is

AfET qT UTgSii el e & SuA fFr S aren R _____ B
Options:

1) ethane

EDC]

2) methene

3) acetylene

4) butene
Correct Answer: acetylene

Candidate Answer: acetylene

QID : 291 - Compounds of carbon and hydrogen are called

IS AT TSI & dIfIehl et ehgl ST 31




Options:
1) hydrocarbon
BTEGIBTET

2) fuel
ge
3) fat
9T

4) carbohydrates
Correct Answer: hydrocarbon

Candidate Answer: hydrocarbon

QID : 292 - The small carnivores are also called

B AFETERY oft ETACIGIE]
Options:
1) Primary consumers

U

2) Secondary consumers
EERIEIE]

3) Tertiary consumers

GRIEEACERIEoC ]
ggNo option is correct
Foreneg vl €T &
Correct Answer: Secondary consumers

aTeafie ITeIha

Candidate Answer: Tertiary consumers

Jefraes Suiihreit

QID : 293 - Which is a dedicated web portal launched by the government for Sarva Sikhsha Abhiyan?

T e IS & g TRaR gRT & Sl TS geh FAfid a9 Uidd i a1 8?

Options:
1) Shala
LAl

2) Shishu
frg

3) Shagun
A

4) Visaka
fagmenT

Correct Answer: Shagun
A
Candidate Answer: [ NOT ANSWERED ]

QID : 294 - Who deduced the principle of geometry and is also known as "Father of Geometry"?

forgm sorfafa o1 Rigia s=mar aur 3 "sofafy & e & s 8 of s sia 82

Options:
1) Archimedes
s

2) Euclid

3) Srinivasa Ramanujan
sfifrare ImrgeE

4) Aryabhata

SHTg

Correct Answer: Euclid

Candidate Answer: Euclid

QID : 295 - Which games are also known as Asiad?

B T DAl ot ufdrars oft gt ST 82
Options:
1) Commonwealth Games

e @

EHSA
2) Olympics
Kicitcn

3) Asian Games

[YRBIERC]

4) No option is correct

i faehey TET T &

Correct Answer: Asian Games
[YRBIERC]

Candidate Answer: Asian Games
Tfrars et




QID : 296 - Jahangir's autobiography (Tuzuk-i-Jahangiri) is in which language?

STEHTR 2t SMTeHeRal (JoIe-Q-STei i) fava w4 §2
Options:

1) Urdu

i

2) Pali

UTett

3) Persian

4) Hindi

fed

Correct Answer: Persian

Candidate Answer: Pali

QID : 297 - Which institute has bagged PM's Yoga award?

for T 3 marst o1 O QRER Sftar 87
Options:
1) Ramamani lyangar Memorial Yoga Institutes, Pune
2) Swami Ram Yoga Institute, Noida
TTHY I TR T,
3) Shree Bal Krishna Yoga Institute, Kolkata
T PIOT AN T,
4) None of these
A q I3 gl
Correct Answer: Ramamani lyangar Memorial Yoga Institutes, Pune

Candidate Answer: [ NOT ANSWERED ]

QID : 298 - Who is the author of the book named "Ain-i-Akbari"?

Options:

1) S. M. Ali

T, TH. S5t

2) Abul Fazl

ST Thviel

3) Saghar Nizami

IR et

4) Ibn-batuta

gST e

Correct Answer: Abul Fazl
ST Tt

Candidate Answer: Abul Faz|
ST Tosict

QID : 299 - Which country had severed its connection with the commonwealth in 20162

foFa 3 2016 & AgHSA & WY ST T dreT AT?

Options:

1) Bangladesh
ElLSICEl

2) Maldives

IS

32 Oman

4) Egypt

ey

Correct Answer: Maldives

Candidate Answer: [ NOT ANSWERED ]

QID : 300 - The Madhesi tribe is related to India and its neighbouring country
[ It &1

HERA ST R TUT 39S TSI 327

Options:
1) Nepal
Jurer

2 $ri lanka

3) Bangladesh
TreTTGar

4) Pakistan

uifehear

Correct Answer: Nepal

Candidate Answer: [ NOT ANSWERED ]







